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¢~ General Instructions to Candidates : \\
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® Read the instructions carefully.
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® Give equations wherever necessary.
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PART-A

BOTANY
(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes
Answer all questions from 1 to 3. Each carries 1 Score, Bx1=3)

Which among the following is an example for flagellated protozoan ?
{a) Amoeba (b) Trypanosoma
(¢) Paramoecium (d) Plasmodium

A simple gaseous Plant Growth Regulator (PGR) is .

Crossing over oceurs in substage of Prophase-I.
(a} Leptotene
(b) Zygotene
(c) Diplotene
(d) Pachytene

Answer any 9 questions from 4 to 14. Each carries 2 Scores. (9x2=18)

Plants that are adapted to dry tropical regions have the C, pathway. Write any two
advantages of C, plants over C, plants,

RuBisCO is the most abundant enzyme in the plant world. How does RuBisCO involve
in photorespiration ?

Observe the diagram given below.
(a) Identify the type of plant culture. ;
(b) 'Write any two uses of this type of plant culture.

“There are several reasons why plants can get along without respiratory organs.” Justify
the above statement by citing two reasons.
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PART - A
BOTANY .
(Maximum : 30 Scores) Time : 1 Hour

Cool-off time : 10 Minutes
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8. Many plants show plasticity during their life span.
(a) What is plasticity ?
{b) Give one example.

9. Glycolysis is the breakdown of glucose into pyruvie acid.
(@) Where does glycolysis occur inacell ?
(b) Why is glycolysis a partial oxidation ?

10. Given below is the diagramatic representation of a particular stage of mitosis :
(a) Identify the stage.
(b) Write any two features of this stage.

11. Draw the given flow chart in your answer sheet. Fill the blank columns.

AUXINS
Synthetic auxins Natural auxins
P .
. .

12. Though transpiration results in loss of water, it has many purposes. List out any four
advantages of transpiration.

13. Match the columns A and B.
A B
(i) Prothallus (a) Mosses
(ii)) Sporophylls (b) Plant body of algae
(iii) Coralloid roots | (¢) Gametophyte of Pteridophytes
(iv) Protonema (d) Sporangia bearing leaves
(e) Nitrogen fixation

13)

FY 26 ! 4



8. @emawl auvouem@d  aeames  eflaloasseiosiolsoloel afgiladd)
tdSlaflanonems.
(@)  qogdloilgl apamoselam ?
(b)  EPMEWORIAIW BO) DBIAOVEMo Af)¥)Td.

9. eennmy  @mI®  eealojnils apymiwoel @M  (ai@looosm’
oaeandsimulmy, |
(@)  eegessoglmimy eaaunamia agalaswosm msaaome ?
(b)  eegeasoglavioy so) saule soamilensmacam agimeems ?

10, @acsnmdiins 80) ey ~eisomilan allmace2ijnins aeosyomiclemmao :
(a) @ rei5e Gdlajolaw)a.
(b) @ ceigonilond ome MuaNeuaUMSBUB nfe)m)@:.

1. oxmidleam eagoandg alamgles pomosesenailmd aegens. algeano
GBI al@laflen)s.

-

FAITUIMGE

Syl el ey IR, @0 b
e —— L

P —— L ——

12, auugeaujame aels muauiemied afllamge woeoge mel Maisaajsieaniee melo’
8omilal QalcwOVEMUd DENEl  ALALIGALIAM. ABITRIEE ~ROMBIE moel’
{(RICAWIMMEITIND ) )0},

13. ooy @afidlen)m A, B c2086m0 Gaidjoais] Galden) :

A B

(i) Gruoeamd (a) ooV

(i) empeosaddd | (b) awmdnwies wdles

(iii) eaooncgp@’ | (c) OSOlCALORNAOY BN
GOUD)HUD UROAEHIONOG

(iv) euoegoamia (d)  amposemilo 988 mEled

(e) semeend mucldlaoams

FY 26 5 P.T.O.




14, Fill the blanks in the flowchart given below. Which organelle possesses hydrolytic

enzymes ?

Endomembrane System

Lysosome

HI. Answer any 3 questions from 15 to 18. Each carries 3 Scores.

(3x3=9)

15. Transport of electrons through ETS of the chloroplast results photophosphorylation,
Write any three differences between cyclic and non-cyclic photophosphorylations.

16. The following are the anatomical features of flowering plants. Arrange these features in
the table given below :

(i) Exarch xylem
(ii) Presence of hypodermis
(iii) Palisade parenchyma cells

(iv) Conjoint and open vascular bundles

(v) Endodermis with casparian strips
(vi} Large empty bulliform cells

STEM

ROOT

LEAF

17.  Observe the given floral diagram :

(a) Identify the family.
(b) Write down any two distinguishing features of gynoecium.

() Write any two economically useful plants belonging to this family.

18. An improved model of the structure of plasma membrane was proposed by Singer and

Nicholson.

(a) What is this model called ?
(b) Which component forms bilaver ?

(¢)  Identify two types of proteins present in cell membrane.*
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PART -B

ZOOLOGY
(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes
Answer all questions from 1 to 3. Each carries 1 Score. 3x1=3)

Unlike bony fishes cartilage fishes are swim constantly to avoid sinking due to the —
(a) Presence of pharyngeal gill slits

(b) Presence of air bladder

(c) Absence of pharyngeal gill slits

(d) Absence of air bladder

is the taxonomical aid based on contrasting characters generally in a pair called
couplet.

Which of the part of brain control respiration and gastric secretions i

(a) Cerebrum (b) Cerebellum
(c) Medulla (d) Hypothalamus
Answer any 9 questions from 4 to 14. Each carries 2 Scores. (9x2=18)

Major steps involved in muscle contraction are given below, which are not in the
correct order. Arrange them in the correct order.
(a) Remove the mask of active sites for binding myosin
\
(b) A signal sent out by CNS
4

(¢) Binding of Ca* with troponin

(d) Release of a neuro-transmitter substance
i

(¢) Release of Ca® into the sarcoplasm

Observe the diagram showing transverse section of human gut ;

(a) LabelA,B,C,D __
(b) Write any two structural modifications of mucosa at different parts of gut.
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PART -B
ZOOLOGY
(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes
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(a) Remove the mask of active sites for binding myosin

{
(b) A signal sent out by CNS
1

(¢) Binding of Ca* with troponin
4
(d) Release of a neuro-transmitter substance

v

(e) Release of Ca* into the sarcoplasm
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6. List the major factors affecting the dissociation of oxygen from oxyhaemoglobin in the
tissues,

7. Ha) Identity the tissues based on the features given below :
(i)  Intercalated disc,
(i) Involuntary in action
(b)  Mention the function of intercalated disc,

8. State whether the following statements are true/false. If false, correct it.
{a)  ADH prevents diuresis,
(b) ANF causes the increase of blood pressure,
(c) Angiotensin-1 activate adrenal cortex to release aldosterone.

(d) Aldosterone causes the reabsorption of Na* and water from the distal part of rena]
tubule, ¥

9. Name of the bones of appendicular skeleton are given below :
Clavicle
Humerus
Tibia
Patella
Scapula
(@) Select the bones of pectoral girdle.

(b) Name the articulating cavity between femur and pelvic girdle,

10.  Identify the function of the following structures of cockroaches ;
(@) Compound eye (b)  Arthrodial membrane
(c) Seminal vesicle (d) Malpighian tubules

1. The following are organs of certain animals :
Parapodia
Flame cells
Proboscis gland
Comb plates
(a)  Select organs helps in excretion.
(b)  Name the organism bearing these organs and write its phylum.

12, Distinguish between the following :
(a)  Electric synapse and Chemical synapse
(b) Rods and cones.
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13, Identify the picture and label the parts A, B, C, D.

14. (a) Make a flowchart showing cardiac impulse conduction using appropriate terms
given in bracket.

[SAN, Right atrium, AVN, AV Bundle, Bundle of His, Ventricle]
(b) Which part known as pacemaker ?

Answer any 3 questions from 15 to 18. Each carries 3 Scores.

(3x3=9)
15. Complete the Schematic diagram.
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16.  Following are the hormones produced by tissues other than endocrine glands. Write the
part where it is produced and mention the function of each.

(a) Cholecystokinin
(b} Gastrin

{c) Secretin

17 Match the following :

Classification of Enzymes Reactions

A B
Hydrolases Oxidation-reduction reaction
Lyases Linking together of molecules
Oxido-reductase Transfer of a group
[somerases Inter conversion of molecules
Ligases Removal of groups
Transferases Hydrolysis of bonds

18.  Blood coagulation is a mechanism to prevent the excessive loss of blood,
(2) Identify the enzyme help the conversion of inactive fibrinogen.
(b)  Mention the role of thrombokinase,
(c)  Which ion is necessary for blood clottin g ?
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(a) Cholecystokinin
(b) Gastrin &

(c) Secretin
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Classification of Enzymes Reactions
A B

Hydrolases Oxidation-reduction reaction
Lyases Linking together of molecules
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Isomerases Inter conversion of molecules
Ligases Removal of groups

| Transferases Hydrolysis of bonds
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